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English Version :
(Use a separate Answer book for each group)

Group-A
Unit — |
Answer any two questions of the following: (2 x5)

a)  Explain the nature of matter, according to Aristotle.
b)  'Opinion is not knowledge' — Explain this observation of Plato.

c) 'God is existent as categorical or necessary being in the explanation of contingent
world.' — Explain after Aquinas.

d)  Explain Aristotle's 'Third man' argument.

Answer any one question of the following: (1 x 15)

a) i) Explain, with example, Aristotle's theory of four causes. (10)

i) Show how did Aristotle reduce the four causes to Form and Matter. (5)

b) i)  'Perception is not knowledge' — Explain after Plato. (8)

i) What, according to Plato, is the mark of knowledge proper? (7)
Unit-11

Answer any two questions of the following: (2 x5)

a)  Classify monads following Leibniz.

b)  Explain after Descartes, the causal argument for the existence of God.
c)  Distinguish, after Leibniz, between truths of reason and truths of fact.
d)  What is meant by pantheism in the philosophy of Spinoza.

Answer any one question of the following: (1 x15)
a) i) How does Descartes arrive at the truth, 'l think, therefore, I am'? Explain. (6)
i) Mention different implications, derived from 'l think, therefore, | am'. 4)
i) Is this a syllogism? Discuss. (5)
b) i)  Whatis mode, according to Spinoza? 3)

i) In connection with the relation between substance and mode, distinguish between
Natura Naturata and Natura Naturans, according to Spinoza. (6)
iii)  Can Spinoza be called acosmist? Discuss. (6)

Group-B
Unit — |

Answer any two questions of the following: (2x5)

a)  Explain the relation between truth and validity in logic.

b)  What is the Boolean interpretation of categorical propositions? Explain.

c) Explain the existential import of categorical proposition.

d)  Explain the third rule of a valid categorical syllogism, according to the modern view.

Answer any one question of the following: (1 % 15)
a) i) What is meant by the distribution of terms in categorical propositions? Which

terms are distributed in what kind of categorical propositions and why? (6)

i) Translate the following sentences into standard form categorical propositions : 4)

a)  Birds can fly.
b)  Ram never drives his car when he goes to the office.
c)  All except employees are eligible.

(3)



i)

b) i)

i)

d)  All is well that ends well.

Represent the following propositions into Venn diagrams :

a)  Kapil is a mortal being.

b)  The golden mountain does not exist.

Write the contrapositive of the following proposition :

All birds are vertebrate.

What is meant by ‘enthymeme'? Give an example of a second-order enthymeme.

Translate the following categorical syllogisms into standard form and test their

validity by means of Venn diagram : (any two)

a)  All mortals are imperfect beings, and no humans are immortals, hence,
perfect beings are non-human.

b)  AAlinFigure IV.

c)  Whenever | am in trouble, | pray. Since | am always in trouble, there is not a
single day when | do not pray.

When does a mixed hypothetical syllogism commit the fallacy of denying the

antecedent? Explain with an example.

Unit-11

Answer any two questions of the following:

a)  Explain with illustrations the most important criterion of a good analogical argument.
b)  What is the difference between cause and condition? Explain briefly.

c) Distinguish between scientific and unscientific explanations.

d)  Explain the a-priori theory of calculating probability of an event,

Answer any one question of the following:

a) )
i)
b) i)
i)

i)

Is Mill's doctrine of the plurality of causes acceptable? Discuss.

Explain with illustration Mill's Method of concomitant variations.

Explain the relative frequency theory of probability calculation.

Write the principle for determining the probability of events which are mutually

dependent.

Calculate the probability of the following (any three) :

a)  What is the probability of getting at least one not-H, if a coin is tossed thrice?

b) It two dices are thrown at the same time, what is the probability of getting at
least one 6?

c) If three cards are drawn from a pack of cards what is the probability that all
of them will be spades if the cards drawn are not replaced?

d)  Anurn contains 9 white balls and 6 black balls. If two balls are drawn from
the urn what is the probability that both are of the same colour if the balls
drawn are replied?

(4)

(3)
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(3)

(2%4)

(4)

(2x9)

(1 x15)
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